AHRIVIRITNA_RAINSoF0D
(BEIKR=DRIE)

SH6FIH RE

1| BE=) I—X 100 100 200
2[LLUE 877 I—XA 85 85 170
2[LlLE B1% I—X 85 85 170
BN N I—XA 70 85 155
4|RkE HicTF I—X 70 85 155
6|FE EF I—XA 100 100
6 |[FI[E  Fatst F—/\BB 100 100
6[/\H ERitF F—/\BB 100 100
6|=TF HilTF > 3P 100 100
10(FH E 5T I—XA 70 70
10|H E &8+ Gontan 70 70
10(HEF B — % 70 70
10|iE&  SEfc — % 70 70
10|&=l BT I—XA 70 70
10|92 B¥ — i 70 70
10|ILH Y& I—XA 70 70
10[ILUEH 883 > 3P 70 70
10| AR =k > 3P 70 70
10|5=H H=*E I—X 70 70
XRIESINEE (EEESFEY) — — 10%H
MXATEIRA > NMDNT

255 100

AR 85

3 RAN4 70

NAK8 50

1) I N-EH'5HEU T OBEFEIR3AFTET D, (#HHDOR)
2)I> N —EH126BLLTF DIFERFARZ b 8 DIRA > MIFS U,




